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INSTRUCTIONS

All questions are compulsory.

Time Allowed: 3Hours Total Marks: 300

No marks will be awarded in case of cutting / overwriting or use of lead pencil.
All questions will be attempted on this Exam Booklet.
No extra answer sheet / loose papers will be given.

Failing to abide by the following instructions will result in disqualification of candidates:-

o Roll number will only be written in the given space.

o No identifications marks e.g. name, drawings, signatures etc will be marked on the Exam
booklet.

o Examination Center will not be written on the Exam Booklet.

Use of calculator is allowed.
Part-1 English paper contains 1-10 questions on pages 3 through 8.
Part-1l Mathematics and Science contains 11-18 questions on pages9 through19.

Part-11l Urdu & Islamiayat / Pak Studies paper contains 19-28 questions on pages20 through 25.
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MARKS OBTAINED

ENGLISH
Question No. 1 2 3 4 5 6 7 8 9 10 Total
Marks Obtained
MATHEMATICS & GENERAL SCIENCE
Question No. 11 | 12 | 13 | 14 | 15 | 16 | 17 18 Total
Marks Obtained
URDU & ISLAMYAT
Question No. 19 | 20 | 21 | 22 | 23 | 24 | 25 26 27 28 Total
Marks Obtained
_ _ Mathematics Urdu
Subject English & & Total
General Science | Islamiyat
Marks Obtained

Asst Head Examiner

Head Examiner
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PART-I

ENGLISH (100 MARKS)
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TIME :

Q.No.1:

Q.No.3:

1 Hour TOTAL MARKS:100

ENGLISH

Write down the synonyms of the following words. (20)
Ancestor b. Beautiful

Definite d. Eager

Important f. Magnitude

Deplete h. Strange

Gather J- Buy

Form adjectives from the given words. (20)

Accident b. Star

Talk d. poison
Courtesy f. Home
Magic h. Photograph
Annoy J- Curse

Fill in the blanks with prepositions from the box. (10)

U to, on, by, at, to, for, to, of, to, at

There is a beggar standing __ the door.
We paid __ cheque.

Shecriedout __ fear.

Herose __ high rank.

He is not getting ready _ school.

This is my liking.

He saidthis _ oath

This picture is true_____life /nature.
Pure milkisrare __ present.

Its very kindofyou __ help us.

Page 5 of 28



Q. No. 4:

Q.No.5:

Fill in the blanks using “a”, “an” and “the” as may be suitable.

The runner in race runs fast.

guestion that he asked me was easy.

You should complete work in a while.
We must take bus early tomorrow.
She will never know secret.

| have given book to my friend.

Each of family members have one vote.
| am honest person.

| can write a letter in ink or with a pencil.
This book has won Nobel Prize.

Do as directed.
Every student mistakes. (Use correct formof “make”)

| did this sum ten minutes.

(Fill in the blanks with compound preposition)

foggy weather, the flight was cancelled.

(Fill in the blanks with compound preposition)

They often go to the pictures. (Change into negative sentence)

(10)

(10)

A cat likes fish. (Change into negative sentence)

He sells good cakes. (Change into interrogative sentence)

They have a fish. (Change into interrogative sentence)

The baby is crying. (Change into present perfect continuous tense)

He reads a lesson. (Change into simple past tense)

| knocked at the door. (Change into past continuous tense)
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Q.No.6: Change the following sentences into passive voice. (10)
a. They washed out harmful acids.

b. She was not speaking the truth.

C. She has caught a pigeon.

d. Eat your food.

e. He is not blaming me.

Q.No.7: Complete the sentences by supplying the correct degree of adjectives. (10)

a. This grammar topic is than most others. (easy)

b. The balloon got and bigger. (big)

C. | like milk than coffee. (good)

d. Having a child is the thing that you can do.

(life-changing)

e. My sister is the person | know.(careful)

f. My job is than yours.(bad)

g. The Game of Thrones is the TV series that | have watched.

(good)

h. This is the snow storm we have had in ten years. (bad)

I. A Labrador Retriever is the dog that you can have for a
pet. (friendly)

J- Going to a party is than studying grammar.(interesting)

K. A busis than a car. (crowded)
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Q.No.8:Translate the given sentences into English. (10)

S A S sia

‘adz/ufk—«//;f-b

R YO YV odNe

el bieal gerne 2.d

§,yﬁngL£ﬂuf.e

Q.N0.9: Translate the given sentences into Urdu. (20)
a. Ugba tried to hide the vase because he had broken it.
b. Our friendship has lasted for many years.
C. Cancer is a deadly disease.
d. What do you desire me to do?
e. He resolved to give up smoking.

Page 8 of 28



Q.No0.10: Write a story in the given space based on the prompt / sketch / picture and
give it an appropriate title. Use the given space only to write your story. (10)

Suitable Title:

Plot 2

Diction 1

Language | 2

Characters | 2

Jamal is a businessman. He is very hardworking and honest. He goes to the nearby park

every day in the evening for a walk with his favourite dog Tommy.

Lesson /Moral: (1)
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PART-II

MATHEMATICS & GENERAL SCIENCE

(100 MARKYS)
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TIME : 1Hour TOTAL MARKS: 100
MATHEMATICS (75)

Question no. 11: Encircle the correct option (15x1 =15)

i. If A={1,3,5,7}and B={2,4,6,8}than B — A is equal to

¢x.0.B-AJB = {2,4,6,8}sA = {1,3,5,7}.71:i

A. AUB B. AnB C. B D. A
i. ANA=
A U B. A c. A D. @
ii.  The additive inverse of SIS ‘guﬁfu‘f%:m
A =2 B —2 c. 2 D. =
2 3 2 3
V. If p/q is a non-zero rational number then (p/q)™ is equal to:-

-€x2(p/q) _mg:ﬁytj‘j.,gl?p/q v

A (a/p)™ B. (p/g)™ C.(pg)™ D.(gp)™

v. Thesymbol Vv s called:- S OWV ety
A. Division (H) B. Square Root(.i) C.Radical (Jég/) D. Blank ()

Vi. If the Perimeter of a square shaped garden is 40m then its area is:-

?Kn,?%égw?g«:m)wKf,g&dé&/ug/?:vi

A. 160m? B. 400m? C.100m? D. 1600m?

Vi. Ifx = y? then yis equal to:- “igaayix = y* il
A. X B. \& C.y D. \/§

viii. Converting 36km/hr into m/sec, we get:- S oiir e &S e 7 K36
A. Im/sec B.5m/sec C. 10m/sec D. 20m/sec

iX. If 2.5=x:20, then x= ___ < 414 x32:5=x:20./1:ix
A. 50 B. 2 C. 12 D. 8
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X. A man is walking at the speed of 1km/hr, in 30min he will walk:-
wzooo,?+OgL/G/J::f&}:%1f@?;/&wau::x
A. 1/4km’ B.1/3km C.1/2km D. 1/5km
Xi. A symbol having fixed numerical value is called:- ‘L&Mn}p&gd,ﬁJ&yw:xi
A. Variable(Z*) B. Constant (J“"’”) C. Number (:«) D. Symbol(erw)
Xii. A linear equation consists of polynomials of degree:- ‘gﬁ/vé’/i&/;iguu&nug:xii
A. One B. Two C.Three D. Four
xiii.  In a parallelogram the sum of interior angles is:- &w:u£Cmuud;|;'9nf{ug,u:xiii
A. 1200 B. 180° C. 270° D. 360°
Xiv. The circumference of a circle with radius 7/22mis:-
u’lu(@x’i;Qﬁ-?ﬂbf(@/’um?n}ﬂ/22:XiV
A. 1Im B. 2m C.3m D. 4m
xv. Inamb:cid, b and c are called:- el ombutazhcidixv
A. Means () B. Extremes (¢%/4) C. Ratio (—t)D. None of these (¥ 5= uter)
Question No. 12: _u/(df"‘“d/éuj'
] ) )  a®x? 2axy bzy2
a. Factorize by using the identity 0z e + . (8)
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b. Solve (7)

Question No. 13: . B
NUN=U Juﬁqw,wa@ﬁmq«uJﬂhﬂ

a. If U= Setof Whole numbers and N = Set of Natural numbers, then verify that
N/UN=U (8)
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?u(n.l{’/u,c'l/u(g;))»;‘at’/"ﬁjﬁqjuf353/7‘44%’_)/7500017d/u}5"»d/d}l2 e

b. Ghazi earns Rs.7500 in two weeks. What will he earn in 2days if he works 6days in a
week.(7)

Question No.14: _ . _ B
?Jag;/d/.;/u’ruﬁws505?+GC;/5/;/720U£&/1 S

a. If a girl can skip a rope 720 times in 1hr. How many time she can skip in 35min. (8)
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b. Simplify
(4x+3y)(2x —y) — Bx —2y)(x +¥)

-

o/ .
"/ﬁ-u
> 3
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Question No. 15:

73.5 }.’.’ u’u/KJ&J!»@@(P@]’KL/@{@Q{J:‘f(d)/’ub{l‘;?wi}fé/a?_u10
;jﬁof():"L‘u:/("}’”:.*l)L}fd/éi_uZS@]'KL//dﬁ/&)Kz
Find the cost of spraying a chemical in a circular field at the rate of Rs. 10/m? where

the radius of circular field is 73.5m and also calculate the cost of making hurdle round the
field at the rate of Rs. 25/m. (15)
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Vi,

Vii.

viii.

GENERAL SCIENCE (25)

Question No. 16: Encircle the correct Choice. (13)
Objects that vibrate slowly have a pitch that is: '343%@U((V.’L’5L/¢4/'54’—M71i
A. high (<) B. loud () C. soft (#4) D. low (¢)
Sound waves travel more quickly through: _;w&f{_dﬁ',)pjz,&;,f;ii
A. solids (=) B. gasses(:.urf) C. air («1x) D. liquids (e =Wl)

The potential difference in a circuit between two points is measured in:

e QST el U B sup n L6t Ut il

Avolts (U4s) B. amperes(U4i#4)  C. watts (Utehs) D. coulombs (J*—)
Which one is an insulator: - —ie WP e Jroriv
A. copper (ut) B. glass () C.iron (i) D. aluminum (=="41)

The sticky parts of the flower is called —:¢tM,pul;%. LAY,

A.sepal(J#) B.ovary  (§.) C. stigma (#)D. stamen (u‘f’ )

Chemical formula of carbon dioxide is:- ‘éuméy{@m&wmvi
A. Oz B. CO: C. H:0 D.CH4

The valency of nitrogen is:- ‘au’%)Ju?)/“L’:vii
A 2 B.3 C.1 D.5

The total percentage of fresh water in earth is:-
5w S ol R s 4 5 v

A.5% B. 3% C.15% D.10 %

Chemical formula of water:- c‘-Ur/G(jQ{K&inX
A. H0 B. CO2 C. N2 D.Hs:O

A chemical change results in a 9bn£’(&iéwx
A. loss of matter ({Ls6ml) B. phase change ({ £ §=/)

C.solution (::6J#) D. different kind ofmatter (a8~ )
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Xi.

Xii.

Xiii.

—:‘aﬁf‘/’/d/}gl:xi

Electric current is the:
A. flow of atoms (sLsUs=r) B. flow of protons (s§%ss.)
C. flow of electrons (ss%5¢1) D.flow of neutrons (s§%s.%%)
Which organism have maximum amount of eneray in a food chain?

¢ s i mliml S G A U o e U 239 X
A. primary consumers (;/yj@’/u’) B. secondary consumers (J/g)’/du‘;'i.?)
C. producers (y3:4) D. tertiary consumer (s /g'/’(j F2)
The process of fusion of sperm with the egg is called:-

—:‘gl:’llz»’/ id Kb;u.L(ui:l).b,:gfut.m((/?)&:{//':xiii

A. fertilization (o=71&/) B.pollination (ﬁ"’fg)

C. respiratory system (Jv}w) D. ecosystem (("’ £1)

Question No17: Write answer of the following questions. (Phvsics)

—‘Ly&fuﬁu-{TK‘f:g//)l@Jl

What is the relationship between frequency and pitch? (3)
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QL&/. d/j’}‘(:u
—U/ -

b. How does sound travel? (3)

Question No18:Write answer of the following questions. (Chemistry & Biology)

-@/fﬂ;&/’u:uﬂ/ﬁ’%/ﬁr?mny?q_g/.yﬂfﬂ%/:.ﬁ;

a. Define reproduction. What is the difference between Sexual and Asexual

reproduction? (3)
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b.

What are lons? How are they formed?

AT T
€))
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PART-III

URDU & ISLAMIYAT

(100 MARKYS)
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Q No0.28: Write the Urdu translation of Surahul Qadar. (10)

Q)L 2o Kot 28 2 iy

Page 26 of 28




e oW Y

Question No. 9: Encircle the correct option. (20)

Vi.

Vil.

viii.

_uféu/’mfé..,u?uﬂm/dw

When Babur was years old, his father died:-

_ZJ’Z’&}/JULCJ'J{JL/ /J/L.)l
A. 10 B. 11 C. 12 D. 13
First battle of Panipat was faught in in the year? -Jsd G/ ‘%J‘"’*d&:ii
A. 1526 B. 1626 C. 1726 D. 1826

IS K e . . S
Karez system for irrigation is used in the province? e QedU LT s Lty CoeLii

A. KP B. Sindh C. Baluchistan D. Punjab

M-2 Motorway connects Islamabad with? tede AU TPt s afriv
A. Lahore B. Faisalabad C. Qalat D. Quetta

War of Independence was faught in the year? (7 — T T By
A. 1557 B. 1657 C. 1757 D. 1857

Real name of Sher Shah suri was? S SISl F i
A. Farid Khan B. Ghaffar Khan

C. Farid Khan C. Hamayun Khan

The last ruler of Mughal Empire was? ¢ UG AT L bl borvii

A. Akbar B. Babur

C. Bahadur Shah zafar D. Hamayun

The instrument to measure earth quack is? e e TS P el e 2§ Liviii

A. Barometer B. Hydro meter

C. Thermo meter D. Seismograph

On heating, the matter? R 4inp Soliix

A. Expands B. Contracts

C. Increases D. Decreases

The instrument to measure rain is? B 6P el

A. Anemometer B. Barometer

C. Rain Gauge D. Galvanometer
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Q No-:28  Fill in the blanks. (15)

I In 1545, Sher Shah Suri attacked at ey ISAS L Gl 2 1
ii.In 1526, Empire was founded. uftf( e 15261
- /)ﬁ. ol o .

iii.Mughal KingJahangir was born in the year et
AV

iv.Auringzeb music in the Royal Court.
—d;/'/ J&f/uﬁ/p:u?lﬁ';%}v@ﬂ!

language.

v.Shah Wali Ullah translated Holy Quran into
KT bl iy

Sty

vi.From 1701 to 1843, Kalhoras and ruled Sindh.

U9 LG F1843 1713 tvi

,JM’G(:@ML

vii.Wherever Babar found good books he sent those to his

_LEQ)!){{/ c“.lu[j'Lqu’/f:!d{uf/uW//L vii

viii.In 1761 AD, Ahmad Shah Abdali defeated .
el a1 E1761 < viii

ix.Shah WaliUllah was born in the city
Xﬂdnlﬁ lix

<L!Zl,g:uf/;’

x.Under ground water courses are dug which are called
L 2 ardedbo g L on Lot ox

xi.First atomic plant of Pakistan was installed in the city of
L GIgF U] i

Uo7~
xii.Biggest natural gas reserves of Pakistan are located in the province of
Y- ,f‘o}j!kcggﬁ//ﬁj% :
xiii. There are basic types of industries.
V) LASESUR i
xiv.Important center (city) of textile in Pakistan is
ey S oS Lt
xv.Sher Shah Suri defeated in the year 1539.
ey 1539 ol & txv

Page 28 of 28



